wtshare.dat Artificial data set for Exercise 22 of Chapter 6. The data set has
multiple records for adults with more than one child; if adult 254 has 3 children,
adult 254 is listed 3 times in the data set. Note that to obtain Lj, you need to take
numadult +1.

Column ‘ Name Value

1 id Identification number of adult in sample

2 child = 1 if record is for a child, 0 if adult has no children

3 preschool =1 if child is in preschool, 0 otherwise

4 numadult number of other adults in population who link to that child

65



